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[ (cos 01 cos O3 + sin 6y sin s)

r—l{(cos 61 cos O + sin 6y sin 6)

p.11 4.5 T2 T2
+i(sin 01 cos s — cos 61 sin 6) +i(sin#y cosfs — cos Oy sinfbs)}

p.78 £.1-6 > >

n=0 n=1

p.119 (8.67) =X

F(po)F(M) ’ "F(pn—l)
T'(po+ - +pn_1)

I'(po)(p1) -+~ I'(pn)
I'(po+ -+ pn)

p.131 (9.18) =

“(—acost,—asint,0)/v/a? + b2

Y(—acost, —asint,0)/(a® + b?)

p.131 (9.19) =X

t(sint, — cost,0)/v/ a2 + b2

t(sint, — cost,0)/(a® + b?)

p.132 4.1 “(bsint, —bcost, —a)/\/ a? + b2 !(bsint, —bcost,a)/\/ a2 + b2
' 1 2 . 0% 0 1 o 1 . 0% 0
p.143 (10.36) = +m(W + sm&w + cos 0%) +7“2 076 067 + 2 sin9(sm Gw + cos 0%)




